KOH ER e PR ?ﬁﬁmiﬂ%i%
I SERVICE PARTS PAGE
® HETME

1331782-*

Trolley Wall Body
Assy, New Purist

RIFT CEEEERM

1283425

Screw GB/T 846 ST3.9X12 .
T EBURET ST3.9X12

1341489-* / f
Cover Cap, New Purist

Bl s ES

1343933

Glass Gripping Seal, Profile

1343898-*

Wall Channel Clamp,
New Purist
EEs )

1343906-*
Wall Jamb Clamp,
New Purist

IR

1272963-*

Composed Handle Assy
450mm, Double
IPEEAHFHILTF 450mm

1343908-*
Wall Jamb Clamp Cap,
New Purist

RS

1343895-*
Door Glass, New Purist

I35

1361032-T8-B

SCREEN, 1D2P, 10mm
—FR WE—E, 10mm [hIEEEE
K-701574T - FM - SHP

1272936
1210861 Connector Block
Screw ST3.5X6 B
AN
1343896-* PRI
Panel Glass
EERIE (BHEM)
1331780-*
Panel Glass Trolley
Body Assy, New Purist N
1305088-* BTSRRI <
Hinge Assy, Up, o
New Purist
FENERIF AR & i
1331771-*
Trolley Flat Tube o
10X30 RENRE
1343909-*
Panel Glass 20 ¢
[EIREHS
-
LN
} . '
g
1343934
Inserted Seal For Bottom Frame
JEAERERNE
1343930
Side Seal, 10mm
JhaliS
1325149-*
Hinge Assy, Bottom
® IS MRGER
1343929
Bottom Seal
WSS
1343932
Magnetic Seal, 180°, 10mm
1341594-* 1808T MR
Bottom Frame Profile, New Purist

RIS

* Color code must be specified when ordering.

*IJERHS R GRS,

-1-



KOHLER.

NEW PURIST Nt

SERVICE PARTS PAGE

HIEBHE

SCREEN, 1D2P, 10mm

—=8, WE—E, 10mm [hIREERE
K-701574T - FM - SHP

P/N S5 DESCRIPTION i COLOR Eifs
* 1343895-R-* Door Glass, RH, EW Purist, 10mm [ 3% (/)
* 1343896-R-* Panel Glass, RH, New Purist, 10mm IEEHRE (HFF)
* 1343909-R-* Panel Glass, RH, New Purist UIE3HE (GFF)
* 1343895-L-* Door Glass, LH, EW Purist, 10mm [ J31& (£FF) EM. IC
* 1343896-L-* Panel Glass, LH, New Purist, 10mm BEIEIE (&£FF) '
* 1343909-L-* Panel Glass, RH, New Purist UEIKIE (EFF)
* 1343941-* Panel Glass With Big Shelf, New Purist, 10mm G{4EREEHIE
* 1343942-* Panel Glass With Small Shelf, New Purist, 10mm R4 EEERKIE
* 1343898-* Wall Channel Clamp, New Purist $iEiEsis EiEAF 2BL, SHP
* 1343906-* Wall Jamb Clamp, New Purist #iEiEsiZ3tt 2BL, SHP
* 1343908-* Wall Jamb Clamp Cap, New Purist #rEIRigef 2t 2BL, SHP
* 1341594-R-* Bottom Frame, RH, New Purist FiZilmiF/EiER (GF) 2BL, SHP
* 1341594-L-* Bottom Frame, LH, New Purist STEImSRIER (AFF) 2BL, SHP
1341489-* Cover Cap, New Purist Froimis Bt sine 2BL, SHP
* 1331771-* Trolley Fiat Tube 10X30 REERRE 22:5' SNRS\[/) '
1325088-R-* Hin ist HrENERIS ] 2BL, 5 RGD,
-R- ge Assy, Up, RH, New Purist &% E54EAH (GIT) AF BN, BV
1325149-R-* Hinge Assy, Bottom, RH, New Purist #Emiss FRGEEM (BFF) 2EIF“ SNRS\[/) ’
1325088-L-* Hinge Assy, Up, LH, New Purist $Zifis ER4EAH (£FF) 2,?#‘ S’NRS\? '
1325149-L-* Hinge Assy, Bottom, LH, New Purist $TEiiHE FRGEEM (EEFF) 25',5’ ENRS\',D ’
1331780-* P . S U 2BL, S, RGD,
- anel Glass Trolley Body Assy, New Purist B3 I2 S EELE4 AF. BN. BV
1331782-* Trolley Wall Body Assy, New Purist fifiF_-H5EE4R 4 2AB||E SNR(Bie ’
1111937- Screw Cover Cap M6 CSK Grey 12442515 2%5 %’?\1 RBGVD
* Sk 2BL, S, RGD,
* 1272963- Composed Handle Assy, 450mm, Double X237 F 450mm AF. BN. BV
1343931 | Insert Magnetic Seal, 10mm, Skyline $84455%
1343932 | Magnetic Seal, 180°, 10mm 180 B[ JIRHLE
1343940 | Magnetic Seal, Inward Opening, 10mm RFFR;S%
New Purist Pivot Seal Strip 1343929 | Bottom Seal For Purist DR Glass Profile [ 1R
* A 1343935 Package Kit, 10mm 1343930 | Side Seal, 10mm, Profile, Hinged Door fli11f5%
NG ) ZH RS 1343952 | Side Seal, Inner Open, New Purist, 10mm PFF JMIBARSE
1343933 | Glass Gripping Seal, Profile, 10mm EI%E SR
1343934 | Inserted Seal For Bottom Frame JEHE2HERNIR S
1157883 | Insert Seal, 8mm ERIfGEE
1272936 | Connector Block ¥BR/ELR
1210861 | Screw ST3.5X6 EsskiBey (BH¥BRIELRAD)
1283425 | Screw ST3.9X12 +FMLEHURY ST3.9X12 (HliimzsFl)
1343936 Screw M4X8 +=F LA 24T M4X8
New Purist Pivot SP Package Ki 1343947 | Screw M5X8 LTz M5X8
* A 1343922 srapsr s, | 1150121 | Screw, GB/T 845 ST3.5X40 &L+ ERIGET ST3.6X40
’ ) - 1057064 | Wall Anchor ZBKE (NIERSHI)
1157853 | Screw Key 2.5mm 2.5mm P75FiRFE
1095457 | Screw Key 3mm 3mm R75MEIRF
1078917 | Screw Key 4mm 4mm R75FIRF
1178609 | Screw Key 5mm 5mm R75MIRF

Note: Components marked in A can only be ordered in whole pack. When ordering components marked in % , customers need provide

measurement form and corresponding product SKU.

ER W ARERHNAREITN, SxnERTEREMINNESm SKU 5.

1361032-T8-B



KOHLER.

Glass options: L3, L4, L5, L8, L9, C, Cl, EL, MZ, GB
RIS ET %R L3, L4, L5, L8, L9, C, Cl, EL, MZ, GB

- [TTRY
NEW PURIST #hEfiimis
SERVICE PARTS PAGE
HETHE
SCREEN, 1D2P, 10mm
—F&, WE—E, 10mm [HRRHEE
K-701574T - FM - SHP

FM-It is for filmed glass. The following decorative patterns can be chosen (refer to the table below) together with FM glass.
IC-It is for laminated glass with easy clean coating. The following decorative patterns cannot be chosen together with IC glass.

FM- L STEARIRIRIEE, Bitg FMES, ATLUSELITSERMNRB (BEFTR) .
IC- LESHS/9RE + SIS, B IC RS, LA HEBIEE,
Refer to the table below for glass options

WSS E &

P/N Description
1291888-L1 |EBLWL, L1
1291888-L3 |B4EL, L3
1291888-L4  |#33784L, L4
1291888-L5 |EZEfEL, L5
1291888-L8 |ZEEWL, L8
1291888-1L9  |#[MiEL, L9
1291888-MZ  |fEmEIKIE, MZ
1291888-Cl  |BEZEERL, Cl
1291888-EL BRI, EL
1291888-GB |£EEN, GB
1291888-C  |#B/4IKIE, C

1361032-T8-B





